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DAY 1 - Reasoning Questions

What is the smallest whole number that when rounded to the
nearest 100 has an answer of 3007

R5 O (1 mark)

2.

Scott has -£16 in his bank account. Every week he gets paid £56
and he spends £63. How much will Scott have in his account

after 2 weeks?
—\6 + 56 = 40

| weelk :
A&\e{ Lo -63 = -R23 ~~iﬁS’Jz__(l mark)
\kgker 2 weeks : -23+56 =}{?>3
£33 - 63 > -L30
3.
7 0 2 9 1

Use four of these digit cards to make a four digit multiple of 10
that is less than 2000.

14770
Ok Q70 or

1790 or | 7(2O

(1 mark)

4.

What do the Roman Numerals CLXXV111 represent?

[00+4 SO +R0 +5+3 |77 (1 mark)

5.

This sequence of numbers goes up by 40 each
time.

40 80 120 160 200

This sequence continues.

Will the number 2140 be in the sequence?
Circle Yes Expiain how you know.




DAY 2

Arithmetic Questions
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4,

Here is a map of part of France.

A box contains 330 matches and : .
weighs 45 grams. The empty box ; £ M | km
weighs 12 grams. Calculate the < { S \f }y 40
weight of one match. 1320
- =33 | ‘
A>T IR J The map shows that the distance from Calaisto 5y, o = 200
22 %330 = 0.1 Paris is 320 kilometres.
01 q (1 mark) & " . .
J 5 miles is approximately 8 kilometres.
Use these facts to calculate the approximate
distance in miles from Calais to Paris.
2.
__ 200 pwilop(1 mark)
Jimmy buys 2.64m of rope. Sally buys 76.4cm more rope than 5
Jimmy. What is the length of Sally’s rope in m? 5 miles = 8 km. The distance between 2 cities is 565 miles. What
dBi TR S 208 Ev S:-hos (1 mark) | is the distance in km?
A6 L
+ 6.4 240 L+ (00 = D40k v m | Km Qo4 K g mark)
3, SEOH 5 | 8
A swimming pool is filled with water at a rate of 13.592 litres e s6S
every 150 seconds. Calculate the amount of water that goes into
. . = &
the pool in 12 minutes. : - 500:5 +65 5 3 x
150 seconds = 23 minn . 5655 _10ox & + [3X8
123 2Y = s = kBT lo =4 8 692 - 24| 6% (1mark) =13 - o0 410k

48X 13.592 =65.2416
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4. A school canteen stocks five flavours of crisps. 2/5 are salt and
vinegar, 1/8 are cheese and onion, 1/4 are prawn cocktail, 1/5

DAY 3 - Reasomng QUEStIOHS are ready salted and the rest are chicken flavour. The canteen

has 60 bags of crisps. Is this correct?

1.
Circle Yes or@ Explain your answer.
Put these fractions in order, starting with the largest.
2 7 5 5
?; 12 6 8
1€ I 2 'S
e :'L-LC 5?4 Eq
5 2 5 T
6 ' 3 5 0,
= 0 v
(1 mark)
2.
Tick (v') any numbers that could be rounded to 17.6.
(1 mark)
18.002 17.638 17.661 17.71 17.58
g v 5.
(1 mark) . ; . .
Emily makes 250 grams of a snack mixture. 15% of the weight is
3. raisings, 25% is banana chips and the rest is peanuts.
How many grams of peanuts does she use?
David saves 35% of his pocket money. He gets £4 each week. 15425 40 156
How much does he save in 1 year? loo - 4O = 60 % _j (1 mark)
L/ = ,[('O o
357 ef 0o =35¢ Y £72.80 (1 mark) 6o 7 of 250 = 25x6 = 150

35 of koo = 35xy =l4o 7@@:
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3.

DAY 4 — Reasoning Questions ABCD is a rectangle drawn on coordinate axes.
The sides of the rectangle are parallel to the axes.
;;‘
1. )
Here are four statements. - 3? ___|E B
For each statement put a tick (v') if it is possible.
Put a cross (x) if it is impossible. i %
[af\ triangle can have 2 acute angles. D c
(14, 4)

A triangle can have 2 obtuse angles.
A triangle can have 2 parallel sides.
[ A triangle can have 2 perpendicular sides.

What are the coordinates of D and E?

4 D(-to ,"4) io' § ) (1mark)

o (1 mark) Here is a triangle on a square grid. The triangle is

2. 63 translated so that point A moves to point B.
\80

2. Find the size of angle a. 186 - (40 + 2\,“’) - 63° Draw the triangle in its new position. Use a ruler.

/™
[l
[ 1
90 - / /
360 - 31§ = 42° 63 63 A
| > -

o
Lt( ;2 (1 mark) (1 mark)




DAY 5

Arithmetic Questions
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DAY 5 — Reasoning Questions

Cupcakes (makes 12)

1. Here is a recipe for cupcakes. 210g flour

How many cakes have you made 160g butter

if you have used 450ml of milk? 150g sugar
450 +90 =5 90ml milk
SXIQ2 = 60
60 kel (1 mark)

2. Mr Smith has a large box of fruit. For every apple in the box
there are 3 bananas and 2 kiwis. Mr Smith has 54 pieces of fruit
in total. How many of each fruit does he have?

ﬁ _apples 17 bananas l 1 kiwis

F. 3i2 S54%+6=19 (1 mark)
s Checic: 4427 +\8 =54«
The distance from A to B is three times as far as
fromBto C. . 66 th < IS

A 15 'S \S B 1S

i bO - 1lS =45
< 60cm >

The distance from A to C is 60 centimetres.
Calculate the distance from A to B.

4.

Here is a sequence of patterns made from squares

and circles.
Number Number
of squares | of circles
-1,1%2
@
o ~l,iz2
@ @
-!i ':‘ 2
D@DD@ 3 /é"'\7

The sequence continues in the same way.
Calculate how many squares there will be in the
pattern which has 25 circles.

25-1 = A4

;24.:.1:[1 ____(__1_____

(1 mark)
5.
The prices of some orders from a newsagent are shown below:
1 chocolate bar and 1 magazine cost £6
3 chocolate bars and 4 cans cost £16
1 magazine and 3 cans cost £5
How much will it cost in total to buy 5 of each item?
chocolaye Ak-oo

mag azine fa—eo——(1mark
Cons L(-00



DAY 6

Arithmetic Questions
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This chart shows the number of books some
children read last month

10

8

Number of
children

Number of books

How many children altogether read more than 9
books?

7 children read 4 books. 1 child read 5 books. Lin
says, That means 2 children read 6 books.’
Explain how she can work this out from the chart.

1103 4t0d Tto® 10to12 130rmore

DAY 6 — Reasoning Questions

(1 mark)

2.

This pie chart shows how the 32 children in Class 6
best like their potatoes cooked.

Look at the four statements below.
For each statement put a tick (v') if it is correct.
Put a cross (x) if it is not correct.

10 children like chips best.
25% of the children like mashed B/
potatoes best.

1. . ; ,

- of the children like roast potatoes

best.

12 children like jacket potatoes best. [~

(1 mark)
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DAY 7 — Reasoning Questions

1.

Here is a rectangle with a width of 15.7 centimetres.

15 .1
f t15-7
T‘Sﬁgm‘!‘l% Not actual size >1- 4
l , 5.0
- 3.4
ISP length ———ee S3.6

The perimeter of this rectangle is 85 centimetres.

Calculate the length of the rectangle.

53.6 -2 = So+2 + 3.6:2
-~ XS5+41.9 = 26.- 9

2. A square has four sides. One of its sides measures 67mm.

RE-P (1 mark)

Work out its area and perimeter in cm.

Area= A4 -89 cm? 6-1x677
Perimeter= X6-F€ cm G- 1%y =268  (2marks)
3.

Steven started his bike ride at 9:42am. He cycled for 76 minutes,
then stopped for 240 seconds before finishing exactly one hour
later. What time did Steven finish his bike ride?

:42 o' 42 1058 |02

| | [
Go Mming

(2:02 1 2:02awy1 mark)

| ' ve - 4
16 ™M bmins Uy

4,

This is a centimetre grid.
Draw 3 more lines to make a parallelogram with an
area of 10cm’.

Use a ruler.
(1 mark)
5.
Amit has some small cubes. 63- 216
L cube = 6CmX6Cm
OJ%QI < KE Qo
6 .S = 4
~ *”' LYy Xy =64
“"1.5cm

The edge of each cube is 1.5 centimetres.
He makes a larger cube out of the small cubes.
The volume of this larger cube is 216 cm”.
How many small cubes does he use?

6 é[ {1 mark)
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250 000 people visited a theme park in one year.
15% of the people visited in April and 40% of the

DAY 8 — Reasoning Questions

people visited in August. How many people visited

the park in the rest of the year?
40, F 9% = 55°%
55°L o[ 250,000 = 137,500
250,000 - 137,500 = 112,500
2. There are 24 coloured cubes in a box.
Three-quarters of the cubes are red, four of the
cubes are blue and the rest are green.

2,509 (1mark)

3 =19
= o QA =1
; | red =8
o blue = 4
] T gte =2z
N f/’f’
L Al - 9\; =2
How many green cubes are in the box? ..
2. (1 mark)
One more blue cube is put into the box. What
fraction of the cubes in the box are blue now?
és z ( \
2 < T A1 mark)
5

| pay £16.00 to travel to work each week. /= l 630

| work for 45 weeks each year. How much - LS

do | pay to travel to work each year? . : gé’
Show your working. )
le
X 45
30
64 ©
12 ©
i £72 o (1 mark)
| could buy one season ticket that would @30 4S = [4
let me travel for all 45 weeks. It would
cost £630. How much is that per week? f‘l L (1 mark)
4,
Write in the missing numbers.
13- D AR
[] 21.7 =375
100 - (22.75 + 19.08) =[] 58-17 1 mark)
5.
The diagram shows three regular octagons joined
together. There is a dot at the centre of each one.
T
24 ©
What fraction of the diagram is shaded? t Wi
——
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DAY 9 — Reasoning Questions

1

Find two square numbers that total 45.

[1] +[34=45

(1 mark)

2,

Write all the factors of 30 which are also factors of
20.

2, E ) 1O
(1 mark)
3. Two whole numbers are each between 60
and 70. They multiply to make 409@
Write in the missing numbers.
657561 or 65 X663 ©OF 65 <65
35 65
23 []x[]=4095
_éz___ go "g 6S_><6.§_ (1 mark)

4,

Here are five number cards.

A)[2] (4] [e] L

A and B stand for two different whole numbers.
The sum of all the numbers on all five cards is 30.
What could be the values of A and B?

o 8e) A-2 B=t2
=2 =2, R _

(—\:"Lﬁ 6: =] e A—L, ’B—?(lmark)
p=6  B= 6 X °r A=§ B:=3

Az 8= 3

Az(o - X

Ben thinks of a number.

He adds half of the number to a quarter of the
number. The result is 60.

What was the number Ben first thought of?
Show your working. ﬂ

§0

{1 mark)
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DAY 10 — Reasoning Questions

1. A circle has a diameter of 136cm. What is the length of its
radius? 1362 68 (1 mark)

2. The radius of one circle is 8.5cm. All the circles are the same

Size.
e...‘p (xS =83
N/ N ININ NS
17 17 1 47 7
What are the dimensions of the rectangle?
Length ¥ S o~ width 177 € (1 mark)

3.

This diagram is not drawn accurately.
Calculate the size of angle m.

704170 490
- 130°
360 - 230" =130

130 (1 mary

3.

The pie charts show the results of a school's netball
and football matches.

. won won | o
i drawn ff
Netball Football %%

The netball team played 30 games.

The football team played 24 games.

Estimate the percentage of games that the netball

team lost. 1O (1 mark)

David says, ‘The two teams won the same number

of games’.
Is he correct? Circle Yes o

Explain how you know.

Mektball won 3 of 30 games = 'S
Fookball won %_o& Al jOW“\ZJ= 12




